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s Algebra Il Midterm Exam Review (Sections 1.1 - 4.3)

1 Evaluate 5¢ + 6u for t = -3 and u = 2.

® -3

2

- f/’ﬂv%n[ﬂ)
4 ~75 412
3

Simplify the expression.

2 10(a-3)-2(a-3)

DA ~30 -4+

D ® 12a-36 /f
® 12a+36
© 8ai—24 A—éﬁ

Determine which value is the solution of the

equation.

® 20 . A ]
© -15 ———

© - &=

Noed a4 comvmerc

Annimunato

® 5 W (B el 7 01200
i N=50

/A/ ] (L)Y

5 The literature club is printing a storybook to raise
money. The print shop charges $5 for each book,
and $80 to create the film. How many books can
the club print if their budget is $1155?
® 246
® 200

® 231

I+ 50 = 4SS~
S K=y 7
A=2/8

6

D’

"

Do

o

v

Solve for ¢ in the equation 10 = 37 +s.

@ 1=7-s

® t=S+10 D=3+ A4
lis 10;/4/’ = t
© =737 3
10s
® 12'3—
Solve. /[)f'/ﬁ/ﬁcy'/’ +2
10r—14<8r+2 D'Z,, é/(p
@ r<-8 . s
r=16 - = 3
© r>16
r<8

Solve the absolute value equation.

Be+2/=3 /3¢ +2/=3

e M e 3

® 12 Jp2=3 22773
| 5 3 =/ 3¢ = -8

© 53 T e

© 1-I ‘ f/ )

Solve the absolute value inequality.

lg-5|>2 ) ’//"—'5’/.>Q

® g<3org=>7 7 N\

® 3<g<7 L B
© 3<g<7 (7-5 >2 or j S
@<3org>7 j'>7 or j<:g
lz+7 <6 /2%7//:&

@ z<-13o0rz=-1 ;

® -13<z<-1 v\

© zg= >—1 , )
(®/i133z2r—2> EA7E L NN 2472

Z ) R\ 2>~/
=]2E &% =]
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11 What is the domain of the function in the graph?

¥
140 +

120 1+ —|\
100 +

80

60 1

404

201 }—

< I\/ o/ -
GU 8 9 10 @ 12 x

® 20<x<120
® 7<ys<ll 7LXE ||

® <y<120

12 Find the slope of the line passing through the
points (—8,5) and (4,6). S Yy Y
{

s, ¥ =¥
@ =5 _ |
_u 4+ /2
® 4
© 12

4

© -7
mx 4 é

13 Find the x- and y-intercepts of

@® x-intercept: 8; y-intercept: —8

® x-intercept: —8; y-intercept: 1 =&y

© =x-intercept: —8; y-intercept: 8 fa ¥
x-intercept: 1; y-intercept: —

14 Which equation represents a line that passes
through the point (1, -2) and has slope 2?

® y= 2x+4

C® y=2-8> Y-y, =mix-x)
g;: 2x+4 Vr2=2(y-1)
y%‘? ]
y=2x~t{

JULE
\‘515 y=-22+5; (0,4)

0=Fy-§

ID: A

Choose the equation of the line that is parallel to—
the given line and passes through the glven (

point. m 19 o L(ZL/

iy Lo

: %—Zx 4
® y=-2x+4 > / “:QX*L{
=-1-x+4

@ y=—2x+8

Choose the equation of the line that is
perpendicular to the given line and passes
through the given point.
_‘/
16 y= 2x +2; 2 4

<®7—:§D

® r=1:-3  yH= —%(x»z)
© y=—gx+3 | )/..;,(/:,fx +

® y=7x+3 CJe2x-3

17 Write the standard form of the equation of the line
that has slope 2 and passes through the point

5,—4).
(® x) 2y =-13 )/%L/ ﬂz(}( b)
2x - y——14 ),U/:Z,P/D

@ZU_I)

® —x+2=13

18 Which of the following best describes the grap

H the equations below? &?L/-nl'/'/o )

2y=Tx+10
6y = 21x +20 —ézg =~ =50
= Zl +20

_@® The lines are par \l,el. 6= 0 -lo a1

® The lines are perpendicular. & #-/0 luu‘"b
© The lines have the same y-intercept. |
® The lines have the same x-intercept.
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' e <15 Y
Solve the linear system. ¥ :/) 22 Graph the function defined by y = |-x +2|.
(-t =-2) =~ -
19 —x-y=-2 W
2x+4y =10
® @y  Ze-2y=-d
@3y LKty =10
© (1,3 0+2% = lo
® no solution @
20 —4x+y=-16 ., .
C x-y=-14 V"_“ =76
® (6,-6) e '
® 6,6 —G¥ L~z

% (54T —
(® no solution @ ”

/ = /:'/
Y

21 Which equation represents the scatter plot? ﬁ_ﬁ_\
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Graph the inequality in a coordinate plane. & Graph the linear system.

; - 20 ¢ — & _

N 23 4x-2y<-8 Yy Y 24 x+y=-7 T

C/ 1y =P & "/,;4’-',57 2% +y=-12 =" * e ™
o EERT. el j




Jame: ID: A

A o & ki +LD,+ (5,9)

Graph the system ofl,vinequalities.

26 Graph: y < —x* —4x /J\J/\\J ] for loi)
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Find the sum of the matrices.
[ 9% 5
12 43| |26 3| o [-3F el
27 + S o
—12 12| |44 20 ?
[ 14 20
®
32 32
4 20
®
_56 -8
[ 38 66
©
32 32
r
38 66
@
~ 56 _s
90 -28
28 1fd=|% 5| findsa |-2° ]
C 1 -9 -5 Gy
20 5
®
-5 =9
o
®
-4 14
C( 20 -25
6 b -
=15 45|
r
20 -25
®
Ry




{ame: ID: A

Factor completely'z -3
o U B o
/)l 31 24u® —6u’ —45u" j( ((%’( ',?[4 "'/3) )
: @114(211—3)(411+5) 2 Y/ /,7) j A
® w'@urdurs 0‘" 247
© 3u'(4u-3)Qu+5)
® u'Qu-3)4u+53)

Factor the expression. e

32 25*-9 gbllfu Ag)’“‘ z)
@5x+3)(5x—3) i -
® (5x-3)(5x-3) (5’)[4"
© @5x-1)(x+9)
® @5x+1)(x-9)

33 8&’—14x—6
(. ® G-6-1)
® Bx-6)(x-1)
© Does not factor
® @-1Dx-6)

_A 34 How would you translate the graph of y = —x” to
produce the graph of y = —(x+3)%?
@nslate the graphof y = —xz‘!g:_fEB units
® translate the graph of y = —x* up 3 units

© - translate the graph of y = —x” right 3 units
® translate the graph of y = —x” down 3 units

5 Write as the product of two factors: x> — 11x — 42
® (x-3)x+14)
® (x-3)(x-14)
© E+3)(x+14)
@ /

(x-14)(e#3)
36 Tickets to a local movie were sold at $6.00 for
adults and $4.50 for students. If 240 tickets were
sold for a total of $1230.00, how many student
tickets were sold?
% 100 Ly+Y3y =1230
© 115 # !/)("Lff';' 2Y0) "%
140 ) z <

Wi-e dﬂw(/,rf/ =/230
_ 4w ! Y
r ajfui'/f/'ﬂ —py - Loy = -IWO
- "’/,j:y =20
47740

{
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37 Graph the parabola: y = —(x — 1)*+3 Dru/’U'V Graph the equation. ){ //Y}/} (l'} 35 (
C = \\ 4 /f 38 3x-5y=-15 \/
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39 Find the x-intercepts of the graph of y =

x*— 14x +45. 3 = ()(101)()(- <)

D ® -9,-5

4 ~
X=4

-y
X=

S

ID: A

40 Graphf(x) = Tix +2







